Beecholme Primary School

Calculations Policy – 2014


At Beecholme Primary School we aim to ensure that the children can both attain or exceed age related expectations and that pupil progress is good.  This document sets out the expectations for the learning and teaching of mental and written calculation strategies throughout Beecholme Primary School.


Foundation Stage

Nursery:
Aims and Outcomes:
By the end of Nursery the children should:
· Be able to compare groups of objects, understanding that a group may have ‘more’, ‘less’ or ‘the same’ as another group of objects
· Have 1:1 correspondence when counting
· Understand that a number name identifies the number of objects in a group
· Say number names in nursery rhymes and songs (forwards and backwards)
· Sing rhymes and songs involving addition and subtraction
· Recognise familiar numerals (e.g. their age/ door number)
· Recognise some numerals between 0 and 10
· Match a numeral to a quantity
· Match a quantity to a numeral
· Find 1 more or 1 less from a group of 5 objects

Reception:
Aims and Outcomes:
By the end of Reception the children should:
· Recognise numerals 0-10 and beyond
· Count out a given number of objects from a larger quantity
· Count reliably up to 10 everyday objects
· Estimate how many objects they can see and check by counting
· Count aloud in 1s, 2s, 5s, or 10s.
· Mentally, find one more or one less than a number from 1 to 10
· Relate addition to combining two groups of objects and subtraction to ‘taking away’
· Count repeated groups of the same size
· Share objects into equal groups and count how many in each group
· Select 2 groups of objects to make a given total of objects
· In practical activities and discussion, begin to use the vocabulary involved in adding and subtracting e.g. 
· 9 biscuits on a plate, take 3 biscuits to eat, how many are left? [image: ][image: ]
· Say which number come before or after a given number, in the range 1 to 10
· Order numerals

Year 1:
Aims and Outcomes:
By the end of year 1 the children should: 
· Count to and across 100, forwards and backwards, from any given number
· Know all pairs of whole numbers that total 10 and 20
[image: ][image: http://www.qualityprimaryresources.co.uk/WebRoot/StoreLGB/Shops/62030978/483D/4C99/4578/605F/13E7/D5C1/1657/BF51/Number_0020_bonds.jpg]


· Generate and record the number sentences in order: 0 + 9 = 9, 1 + 8 = 9, 2 + 7 = 9 
· Recognise patterns in sequences of calculations
· Know the doubles of all numbers to at least 10 and begin to use these to calculate ‘near­doubles’
· Recognise the multiples of 10 in the number system
· Children understand addition as combining groups and as counting on
[image: ]

· They add 9 to a one­digit number by adding 10 then subtracting 1

[image: ]
· Children interpret subtraction as ‘taking away’, initially using objects
· They use concrete objects and pictorial representations such as counting back on a number line

[image: ]

· [image: ]The children also subtract 1 digit numbers on number lines using 10 and 100 numbers as markers

· Begin to identify subtraction as finding the difference
[image: ]

· When counting forwards and backwards in ones, twos, fives and tens, they recognise and use the repeating patterns
· Recognise and use repeating patterns to derive multiples of 2, 5 and 10
[image: ]
· They count on in tens starting from zero or from a multiple of 10 such as 40, and count back to zero
· Carry out practical tasks that involve sharing objects into equal groups and grouping objects equally

[image: ][image: http://3.bp.blogspot.com/-FA5EIDDOVd8/TuTRIfCqEWI/AAAAAAAAAJI/Kp4SIhwBhGw/s1600/scan0002.jpg]

· Solve one-step problems that involve addition and subtraction, using concrete and pictorial representations, and missing number problems
· Begin to use the ‘bar method’ to represent one-step problems and missing number problems
Tahira has 8 bananas and eats 2 of them. How many does she have left?


8
2
?

· Recognise, find and name a ½ and ¼ of an object, shape or quantity
· 
Year 2:
Aims and Outcomes:
By the end of year 2 the children should: 
· Derive and recall all pairs of numbers that sum to 20 and the multiples of 10 that sum to 100
· Generate pairs of numbers that sum to numbers up to 20
· Use the language of addition and subtraction accurately
· Show that addition of numbers can be done in any order (commutative) and subtraction of one number from another cannot
· Use their knowledge of number facts to add or subtract mentally a one­digit number or a multiple of 10 to or from any two­digit number, and add three one-digit numbers
· Use concrete resources and pictorial representations to help them to carry out calculations
37 + 48 = 85 
91 – 54 = 37 (finding difference)


[image: ] [image: ]
· Know that addition and subtraction are inverse operations and can state the subtraction calculation corresponding to a given addition calculation and vice versa
· Build on their understanding of subtraction to interpret 14 – 9 as finding the difference between 14 and 9 or: ‘How many more must I add to 9 to get 14?








· Use their counting strategies to derive multiples of 2, 3, 5 and 10
· Derive related division facts involving 2, 5 and 10
[image: ]
· Are introduced to the idea of multiplication as repeated addition
[image: ]
· Learn that multiplication can be done in any order but that division cannot
[image: ]
· Understand that multiplication is a shorter form of repeated addition and can be represented by an array
[image: ]
· Relate these to the relevant multiplication tables and learn the tables ‘by heart’ so that they can recall multiplication facts
· Know doubles of all numbers to 20 and the corresponding halves
· Derive doubles of multiples of 5 to 50 and the corresponding halves
· Understand division as sharing equally, or as forming groups of the same size through repeated subtraction
[image: ]
· Use mathematical signs and symbols to record number sentences involving each of the four operations
· They apply their understanding of the four operations and their knowledge of facts to identify missing numbers in number sentences
· Recognise, find, name and write fractions 1/3, ¼, 2/4 and ¾ of a length, shape, set of objects or quantity. They relate this to equal sharing and grouping.
· Pupils should count in fractions up to 10, starting from any number and using the ½ and ¼ equivalence on the number line e.g. 1 ¼ , 1 ½ , 1 2/4  (or 1 ½) 
[image: http://syllabus.bos.nsw.edu.au/assets/mathematicsk10/images/s2na029.png]


· 
Year 3:
Aims and Outcomes:
By the end of year 3 the children should: 
· Derive and recall addition and subtraction facts for numbers to at least 20, and number pairs that total 100
· Generate equivalent sums and differences; 
· for example, 100 = 40 + 60 = 41 + 59 = 42 + 58 
or
· 15 – 8 = 16 – 9 = 17 – 10 = 7
· Use inverse operations to derive facts; 
· for example, 58 + 42 = 100 means that 100 – 48 = 52
· Consolidate their knowledge of doubles of numbers to 20 and derive the associated halves
· Use doubles that they know to find other doubles or near-doubles
· For example, they use 45 + 45 = 90 to work out 43 + 45 and 46 + 46
· Extend their mental calculation skills to add and subtract combinations of one-digit, two digit numbers, and three-digit numbers 
[image: ]
· Use their knowledge of addition and subtraction facts to 20 to add or subtract a one-digit number to or from any two-digit number, e.g. 24 - 16
- 4
- 4
8








· Recognise and construct equivalent calculations that help them to carry out addition and subtraction calculations mentally
· Recognise that the sum of two numbers stays the same if one of the numbers is increased by an amount while the other is decreased by the same amount. 
· For example, 27 + 68 has the same answer as 25 + 70 and 30 + 65
· Recognise that 172 – 46 can be represented as 172 – 40 – 6, and 547 + 25 as 
547 + 20 + 5 
· Work out approximate answers to calculations involving two- and three-digit numbers by rounding numbers to the nearest 10 or 100
· Count up when the difference is small, as in 231 – 189 
[image: ]
· Represent calculations such as 287 + 87 as steps on a number line
[image: ]
· Link this to methods of recording where 87 is partitioned into 80 and 7
[image: ]
· Find the difference between two numbers such as 574 and 186 by bridging across 200 and adding 374 to get the answer 384, initially using a number line and moving on to a vertical method
[image: ]

· By the end of Year 3, add and subtract numbers with up to three digits, using the efficient written methods of columnar addition and subtraction
[image: ]
· Derive and learn by heart the 2, 3, 4, 5, 8 and 10 times-tables
· Generate tables such as the 8 times-table from the 4 times-table by doubling
· Times-table to derive the 20 times-table by multiplying by 10
· Recognise multiples of 2, 5 and 10 up to 1000
· Understand and describe the effect on the digits when multiplying one- and two-digit numbers by 10 and 100
· Use multiplication facts for the 2, 3, 4, 5, 8 and 10 times-tables, along with practical and informal written methods, to multiply by two-digit numbers
· For example:  12 x 5
[image: ]

· 
Use a grid to help them to record and carry out more complicated multiplication calculations
· For example:  12 x 5
[image: ]
· By the end of year 3, progress to efficient written methods of multiplication and division
[image: ]342 x 7
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· Use their knowledge of multiplication facts to derive division facts such as 30 ÷ 6 = 5
· Divide by subtracting multiples of the divisor. They check to see if the divisor multiplied by a multiple of 10 can be used and look for the largest possible case
· For example, when they divide 64 by 4, children recognise that the answer must lie between 40 ÷ 4 = 10 and 80 ÷ 4 = 20. They use this approximation to do a calculation either by partitioning the two­digit number or by repeated subtractions, starting with the largest multiple of 10
[image: ]
· Recognise that a remainder represents what is left over after a division and that it is always smaller than the divisor. They give a remainder as a whole number and make sensible decisions about rounding up or down after division according to the context of the problem
[image: ]
· Apply their knowledge of multiplication and division to solve problems, including integer scaling problems and correspondence problems in which n objects relates to m objects

· Find fractions of numbers and quantities, for example finding 1∕6 of £24 by dividing 24 by 6
Add and subtract fractions with the same denominator within one whole (E.g. 5/7 + 1/7 = 6/7), using concrete and pictorial representations 

	
	
	
	
	
	
	



· 

Year 4:
Aims and Outcomes:
By the end of year 4 the children should: 
· Add or subtract mentally pairs of two­digit whole numbers, such as 38 + 47 and 83 – 35 making jottings to record the steps
· Draw on their ability to partition numbers and count on or back. 
· For example, in the case of 38+47 they add separately 30 + 40 and 8 + 7, and then sum 70 and 15 to get 85
· Alternatively, for 83-35 they subtract 30 from 83 to get 53, and a further 5 to get 48
· Discuss their methods and look for methods that they can do most easily in their heads with little or no recording
· Apply their mental calculation skills to add and subtract multiples of 10 and 1000. 
· For example, they work out what to add to 370 to make 1000, or 910 minus 740
· Recognise that they can work out 50 + 76 and 60 – 28 in their heads, but that to answer 341 + 176 or 213 – 76 they need to record steps to help them
· Round decimals with one decimal place to the nearest whole number
· Count up and down in hundredths, recognizing that hundredths arise when dividing an object by a hundred and dividing tenths by ten
· Use their knowledge of multiplication and division to find fractions of numbers and quantities
· For example, they find 1/5 of £40 by dividing 40 by 5
· Use practical resources or diagrams to find proper fractions and add/subtract fractions with the same denominator
· For example, they use squared paper or an interactive whiteboard to work out 5/8 of a 12­by­4 rectangle, first working out and colouring in the squares that represent one eighth of the rectangle and then finding and colouring four more such groups.
· For example, to solve 1/5 + 2/5 =  they use 5 counters and identify 1/5 and then an additional 2/5 and work out what fraction of the counters they have altogether. 
· They continue to practise adding and subtracting fractions with the same denominator, to become fluent through a variety of increasingly complex problems beyond one whole.


Year 5:
Aims and Outcomes:
By the end of year 5 the children should: 
· Calculate mentally with two­digit decimals; for example, they relate 9.5 – 3.7 to the whole­number calculation 95 – 37 = 58, giving the answer 5.8
· Work out, say, 19.7 + 3.4 by adding 0.3 to 19.7 to make 20, then adding 3.1 to 20 to give a total of 23.1
· Find the difference between 7012 and 3984 by stepping from 3984 to 4000 (16) and from 4000 to 7012 (3012), and adding the steps to get the answer 3028
· Use an empty number line and notes to record and explain their solutions if necessary
· Multiply and divide whole numbers and decimals by 10, 100 and 1000, describing the effects
· Round any number up to 1 000 000 to the nearest 10, 100, 1000, 10 000 and 100 000
· Use efficient written methods to add and subtract whole numbers and decimals with one or two places
· Record their calculations using formal written methods
[image: ]
· Use partitioning to multiply and divide whole numbers by a one­digit number, using jottings to help them
· For example, they find 73 × 5 by adding 70 × 5 to 3 × 5, and they recognise that 136 ÷ 4 can be found by adding 120 ÷ 4 to 16 ÷ 4
· Begin to express a remainder as a whole number, fraction or decimal; for example, they give the answer to 23 ÷ 4 as 5 remainder 3, 5 3/4 or 5.75
· Understand when the context of a division problem requires rounding


· Multiply numbers up to 4 digits by a one- or two-digit number, using an efficient written method, including long multiplication for two-digit number

124 x26 becomes
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24 x 16 becomes
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· Divide number up to 4 digits by a one digit number using the efficient written method of short division
496 / 11 becomes
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432 / 5 becomes
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Answer: 86 remainder 2
98 / 7 becomes
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Answer: 14










· Add and subtract fractions with the same denominator and related fractions e.g. ½, ¼, 1/8.  Use resources such as number lines to count on in fractions, including where the numbers are greater than 1. Use arrays to colour fractions of shapes e.g. in the questions ½ + ¼ choose an array that can be divided by 2 and 4 e.g. 8


	
	
	
	

	
	
	
	


	
	
	
	

	
	
	
	



½ shaded			    ¼ shaded

Altogether 6/8 have been shaded. This can be reduced to ¾.

· Multiply proper fractions and mixed numbers by whole numbers, supported by materials and diagrams e.g. ½ x 3


· 3 x ½ is the same as 3 lots of ½. Altogether there are 3/2 or 1 1/2
1/2
1/2
1/2
1
1/2
1 1/2
0



Year 6:
Aims and Outcomes:
By the end of year 6 the children should: 
· Continue to consolidate their knowledge of number facts involving all four operations and to use known facts to derive related facts. 
· For example, they work out numbers in the 13 times-table by combining multiplication facts from the 10 and 3 times-tables
· Add and subtract mentally whole numbers and decimals with one place
· Apply their knowledge of multiplication and division facts to multiplication and division of two-digit numbers, including decimals such as 5.6 or 0.56
· Use their knowledge of place value to multiply and divide whole numbers and decimals by 1000, 100 or 10, and by multiples of these, and they explain the effect in terms of shifting digits and place holders
· for example, they recognise that 25 × 0.3 is equivalent to 25 × 3 ÷ 10
· Use a secure, reliable method of written calculation for each operation e.g. multiply 4 digits by a 2-digit whole number using long multiplication
· Divide numbers up to 4 digits by a two-digit whole number using the efficient written method of long division and interpret remainders as whole number remainders, fractions, or by rounding, as appropriate for the context:

Division

 [image: ]		moves on to			 [image: Macintosh HD:Users:ZeniaMc:Desktop:Untitled1.png]

[image: ]

· Recognise when one method is more efficient than another, for both whole and decimal numbers
· Check first if a mental method will work and then decide which method is most appropriate
· Check results by rounding to approximate answers, 
· For example, explaining that 786 ÷ 38 will be about the same as 800 ÷ 40
· Use fractions as operators to find fractions of numbers and quantities
· for example, recognising that 3/10 of 2 metres is equivalent to three times 1/10 of 200 cm, or 60 cm
· Find percentages of amounts
· For example, working out a 20% discount on jeans originally costing £35 a pair
· Deepen their understanding of ratio. 
· For example, they recognise that ‘four black tiles to every five white tiles’ is a part-to-part relationship
· but 
· ‘four out of nine tiles are black’, a description of the proportion of black tiles as a fraction of the pattern, is a part-to-whole relationship

· Add and subtract fractions with different denominators and mixed numbers, using the concept of equivalent fractions
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	1/2
	=
	2/4
	=
	4/8



· Multiply simple pairs of proper fractions, writing the answer in its simplest form (e.g. ¼ x ½ = 1/8) using the language of ‘scaled by’ and ‘of’ to complete the calculation

	
	This shows ¼ of the whole. We need to find ½ OF this, or SCALE BY ½.


	 
	




	
	
	
	By dividing each quarter in half, you can see that ½ OF the quarter is 1/8.


	
	
	
	



· They understand the question and begin to recognise that multiplying the numerators and multiplying the denominators will give them the same answer.

· Divide proper fractions by whole numbers (e.g. 1/3 ÷ 2 = 1/6)

	1/3
	1/3
	1/3



This shape shows 1/3s. We need to divide this shape by 2.

	1/6
	
	

	
	
	



Therefore 1/3 divided by 2 is 1/6.
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Pr ogr ession �

C o u n t   i n   t w o s   f r o m   0   t o   1 0, w i l l   w e   s a y   9 ?

�

Count  r ound  the  cir cle  of  childr en  in  tw os, who  do  y ou  think  will  sa y  60?

Reception

Ye a r   1

Ye a r   2

Ye a r   3

Ye a r   4

Autumn

�

Count  in  1 0s  fr om  0  to  1 00. Count

in  1 0s  to  50, holding  up  a  finger  f or

each  1 0  w e  count. Ho w  man y  1 0s

did  w e  count?

�

Ho w  man y  1 0p  coins  ar e  her e?

Ho w  m uch  mone y  is  that?

�

What  is  double  2?

�

Ho w  man y  socks  in  2  pairs?

�

Shar e  6  biscuits  betw een  tw o  people

so  each  person  has  the  same  n umber

each. Ho w  man y  do  the y  ha v e  each?

Spring

�

Count  in  2s  to  30. Count  in  2s  to 

1 0, h o l d i n g   u p   a   f i n g e r   f o r   e a c h  

2  w e  count. Ho w  man y  2s  ha v e 

we   c o u n t e d ?

�

C o u n t   i n   5 s   t o   1 5. H o w   m a n y   5 s  

ha v e  w e  counted?

�

Ho w  man y  toes  ar e  ther e  on 

tw o  f eet?

�

Ho w  man y  glo v es  in  3  pairs?

�

This  domino  is  a  double  4. Ho w

man y  spots  does  it  ha v e?

Summer

�

Count  in  3s  fr om  0  to  30. Ho w

man y  3s  did  w e  count?

�

Ho w  man y  sides  ar e  ther e  on  4

triangles?  Count  them  in  3s.

�

What  is  double  5?

�

What  is  half  of  1 0?

�

I  r oll  double  3. What’ s  m y  scor e?

�

Ther e  ar e  8  raisins. T ak e  half, ho w

man y  ha v e  y ou  tak en?

Autumn

�

What  is  5 

+

5 

+

5? 

Ho w  can  w e  write  this  as  a

mu l t i p l i c a t i o n   s e n t e n c e ?

�

What  n umbers  g o  in  the  bo x es?

6 

´  

2 

=

�

;

�

´  

10  

=

40;

�

´

�

= 

12

�

Ho w  man y  2s  mak e  8?

�

What  n umbers  g o  in  the  bo x es?

6 

¸ 

2 

=

�

;2 0  

¸ 

�

= 

2;

�

¸

10  

=

3

�

Ther e  ar e  1 2  cubes. Mak e  3 

to w ers  the  same  height. Ho w  tall 

is  each  to w er?

Spring

�

What  m ultiplication  sentences

could  w e  write  about  this  ar ra y?

�

   

�

   

�

   

�

   

��

   

�

   

�

   

�

   

��

What  ar e  tw o  5s?  Double  6? 

6  times  2?  6  m ultiplied  b y  2?

�

What  is  half  of  1 2?

�

If  6  gra pes  ar e  shar ed  equall y

betw een  tw o  people , ho w  man y  will

the y  get  each?

�

If  Sarah  counts  in  2s, and  Nigel

counts  in  5s, when  will  the y  r each

the  same  n umber? 

�

Ho w  man y  1 0s  can  y ou  subtract

fr om  60? 

Summer

�

If  double  1 1  is  22, what  is  half  of  22?

�

If  1 2 

´  

2 

=

24, what  is  24 

¸ 

2? 

�

A  giant  is  twice  as  tall  as  a  1 0m  high

house . Ho w  tall  is  the  giant?

�

One  snak e  is  half  the  length  of

another  snak e  which  is  20  cm  long.

Ho w  long  is  the  shor ter  snak e?

�

I  doubled  3, then  doubled  the

ans w er . What  n umber  did  I  get?  I

halv ed  this  n umber  and  then  halv ed

it  again. What  was  m y  ans w er?

�

What  is  the  pr oduct  of  1 5  and  6?

�

If  y ou  ad d  1 0 

´

5  and  8 

´

5, what  m ultiple  of  5  do  y ou  get?

�

Is  40  a  m ultiple  of  5?  Ho w  do  y ou  kno w?

�

What  n umbers  g o  in  the  bo x es?

4 

´

�

+

8 

= 

24; 33 

=

4 

´  

�

+

�

2

44

222

2 hops of 4

4 hops of 2

2 hops of 5

5 hops of 2

Autumn

�

What  is 1 0  ad ded  together  4  times?

Ho w  can  w e  write  this  as  an

ad dition?  And  as  a  m ultiplication?

�

Describe  this  ar ra y .
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�
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�

   

�

   

�

   

��

I  ha v e  4  stick ers. If  y ou  had  3  times

as  man y  stick ers  ho w  man y  w ould

yo u   h a ve ?

�

What  is  the  pr oduct  of  6  and  2?  Of

2  and  6?  What  is  5  m ultiplied  b y  3?

�

Is  35  a  m ultiple  of  5?

�

What  n umbers  g o  in  the  bo x es?

4 

´

4 

=

�

;1 0  

´

�

=

80;

�

´

5 

=

30;

6 

´

20 

=

�

;

�

´

�

=

60

Spring

�

If  7 

´

5 

= 

35, what  is  35 

¸ 

5?

�

What  f our  m ultiplication  and

division  sentences  can  y ou  write  to

using  2, 5  and  1 0?

�

Shar e  1 8  betw een  2. Divide  25  b y  5.

Ho w  man y  fiv es  mak e  45?  Ho w

man y  5p  coins  do  y ou  get  f or  35p?

�

Ho w  man y  5s  mak e  35?

�

Shar e  1 8  betw een  2. Divide  25  b y  5.

�

Ho w  man y  lengths  of  1 0m  can  y ou

cut  fr om  80m  of  r ope?

�

A  bak er  bak es  24  buns. She  puts  6

buns  in  e v er y  pack et. Ho w  man y

pack ets  can  she  fill?

�

What  n umbers  g o  in  the  bo x es?

16  

¸

2 

=

�
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¸
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will  be  left?
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I f   y o u   p u t   2 5   e g g s   i n   b o x e s   o f   1 0,

ho w  man y  bo x es  w ould  y ou  fill?

Ho w  man y  eggs  w ould  be  left  o v er?

�

Count  a  handful  of  pasta  pieces  b y

gr ouping  them  in  5s. Ho w  man y  5s

we re   t h e re ?   H o w   m a ny   l e f t   o ve r ?

Ho w  man y  pasta  pieces  altogether?

What  division  sentence  could 

yo u   w r i t e ?

�

What  n umbers  g o  in  the  bo x es?
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Ho w  man y  3s 

in  1 5?
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Pr ogr ession �

C o u n t   i n   t w o s   f r o m   0   t o   1 0, w i l l   w e   s a y   9 ?

�

Count  r ound  the  cir cle  of  childr en  in  tw os, who  do  y ou  think  will  sa y  60?

Reception

Ye a r   1

Ye a r   2

Ye a r   3

Ye a r   4

Autumn

�

Count  in  1 0s  fr om  0  to  1 00. Count

in  1 0s  to  50, holding  up  a  finger  f or

each  1 0  w e  count. Ho w  man y  1 0s

did  w e  count?

�

Ho w  man y  1 0p  coins  ar e  her e?

Ho w  m uch  mone y  is  that?

�

What  is  double  2?

�

Ho w  man y  socks  in  2  pairs?

�

Shar e  6  biscuits  betw een  tw o  people

so  each  person  has  the  same  n umber

each. Ho w  man y  do  the y  ha v e  each?

Spring

�

Count  in  2s  to  30. Count  in  2s  to 

1 0, h o l d i n g   u p   a   f i n g e r   f o r   e a c h  

2  w e  count. Ho w  man y  2s  ha v e 

we   c o u n t e d ?

�

C o u n t   i n   5 s   t o   1 5. H o w   m a n y   5 s  

ha v e  w e  counted?

�

Ho w  man y  toes  ar e  ther e  on 

tw o  f eet?

�

Ho w  man y  glo v es  in  3  pairs?

�

This  domino  is  a  double  4. Ho w

man y  spots  does  it  ha v e?

Summer

�

Count  in  3s  fr om  0  to  30. Ho w

man y  3s  did  w e  count?

�

Ho w  man y  sides  ar e  ther e  on  4

triangles?  Count  them  in  3s.

�

What  is  double  5?

�

What  is  half  of  1 0?

�

I  r oll  double  3. What’ s  m y  scor e?

�

Ther e  ar e  8  raisins. T ak e  half, ho w

man y  ha v e  y ou  tak en?

Autumn

�

What  is  5 

+

5 

+

5? 

Ho w  can  w e  write  this  as  a

mu l t i p l i c a t i o n   s e n t e n c e ?

�

What  n umbers  g o  in  the  bo x es?

6 

´  

2 

=

�

;

�

´  

10  

=

40;

�

´

�

= 

12

�

Ho w  man y  2s  mak e  8?

�

What  n umbers  g o  in  the  bo x es?

6 

¸ 

2 

=

�

;2 0  

¸ 

�

= 

2;

�

¸

10  

=

3

�

Ther e  ar e  1 2  cubes. Mak e  3 

to w ers  the  same  height. Ho w  tall 

is  each  to w er?

Spring

�

What  m ultiplication  sentences

could  w e  write  about  this  ar ra y?
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�

   

�

   

��

   

�

   

�

   

�

   

��

What  ar e  tw o  5s?  Double  6? 

6  times  2?  6  m ultiplied  b y  2?

�

What  is  half  of  1 2?

�

If  6  gra pes  ar e  shar ed  equall y

betw een  tw o  people , ho w  man y  will

the y  get  each?

�

If  Sarah  counts  in  2s, and  Nigel

counts  in  5s, when  will  the y  r each

the  same  n umber? 

�

Ho w  man y  1 0s  can  y ou  subtract

fr om  60? 

Summer

�

If  double  1 1  is  22, what  is  half  of  22?

�

If  1 2 

´  

2 

=

24, what  is  24 

¸ 

2? 

�

A  giant  is  twice  as  tall  as  a  1 0m  high

house . Ho w  tall  is  the  giant?

�

One  snak e  is  half  the  length  of

another  snak e  which  is  20  cm  long.

Ho w  long  is  the  shor ter  snak e?

�

I  doubled  3, then  doubled  the

ans w er . What  n umber  did  I  get?  I

halv ed  this  n umber  and  then  halv ed

it  again. What  was  m y  ans w er?

�

What  is  the  pr oduct  of  1 5  and  6?

�

If  y ou  ad d  1 0 

´

5  and  8 

´

5, what  m ultiple  of  5  do  y ou  get?

�

Is  40  a  m ultiple  of  5?  Ho w  do  y ou  kno w?

�

What  n umbers  g o  in  the  bo x es?

4 

´
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+

8 
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24; 33 

=
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�

+

�

2

44

222

2 hops of 4

4 hops of 2

2  hops  of  5

5  hops  of  2

Autumn

�

What  is 1 0  ad ded  together  4  times?

Ho w  can  w e  write  this  as  an

ad dition?  And  as  a  m ultiplication?

�

Describe  this  ar ra y .

�
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�

   

�
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�

   

�

   

�

   

��

   

�

   

�

   

�

   

��

I  ha v e  4  stick ers. If  y ou  had  3  times

as  man y  stick ers  ho w  man y  w ould

yo u   h a ve ?

�

What  is  the  pr oduct  of  6  and  2?  Of

2  and  6?  What  is  5  m ultiplied  b y  3?

�

Is  35  a  m ultiple  of  5?

�

What  n umbers  g o  in  the  bo x es?

4 

´

4 

=

�

;1 0  

´

�

=

80;

�

´

5 

=

30;

6 

´
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=

�

;

�

´

�

=

60

Spring

�

If  7 

´

5 

= 

35, what  is  35 

¸ 

5?

�

What  f our  m ultiplication  and

division  sentences  can  y ou  write  to

using  2, 5  and  1 0?

�

Shar e  1 8  betw een  2. Divide  25  b y  5.

Ho w  man y  fiv es  mak e  45?  Ho w

man y  5p  coins  do  y ou  get  f or  35p?

�

Ho w  man y  5s  mak e  35?

�

Shar e  1 8  betw een  2. Divide  25  b y  5.

�

Ho w  man y  lengths  of  1 0m  can  y ou

cut  fr om  80m  of  r ope?

�

A  bak er  bak es  24  buns. She  puts  6

buns  in  e v er y  pack et. Ho w  man y

pack ets  can  she  fill?

�

What  n umbers  g o  in  the  bo x es?

16  
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=
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¸

�
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6;

�

¸

5 

=

7

Summer

�

Ho w  man y  lengths  of  1 0  cm  can  y ou

cut  fr om  81 cm  of  ta pe?  Ho w  man y

will  be  left?

�

I f   y o u   p u t   2 5   e g g s   i n   b o x e s   o f   1 0,

ho w  man y  bo x es  w ould  y ou  fill?

Ho w  man y  eggs  w ould  be  left  o v er?

�

Count  a  handful  of  pasta  pieces  b y

gr ouping  them  in  5s. Ho w  man y  5s

we re   t h e re ?   H o w   m a ny   l e f t   o ve r ?

Ho w  man y  pasta  pieces  altogether?

What  division  sentence  could 

yo u   w r i t e ?

�

What  n umbers  g o  in  the  bo x es?
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I’m  3  times as  tall  as  y ou. I’m  3  metr es  tall. Ho w  man y  3s  in  1 5? I’m  onl y  1m e t r e   t a l l .

Thr ee  times 
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0369 3 6 9 12 15 12 15 01 5 Pr ogr ession � C o u n t   i n   t w o s   f r o m   0   t o   1 0, w i l l   w e   s a y   9 ? � Count  r ound  the  cir cle  of  childr en  in  tw os, who  do  y ou  think  will  sa y  60? Reception Ye a r   1 Ye a r   2 Ye a r   3

Ye a r   4

Autumn � Count  in  1 0s  fr om  0  to  1 00. Count in  1 0s  to  50, holding  up  a  finger  f or each  1 0  w e  count. Ho w  man y  1 0s did  w e  count? � Ho w  man y  1 0p  coins  ar e  her e? Ho w  m uch  mone y  is  that? � What  is  double  2? � Ho w  man y  socks  in  2  pairs? � Shar e  6  biscuits  betw een  tw o  people so  each  person  has  the  same  n umber each. Ho w  man y  do  the y  ha v e  each? Spring � Count  in  2s  to  30. Count  in  2s  to  1 0, h o l d i n g   u p   a   f i n g e r   f o r   e a c h   2  w e  count. Ho w  man y  2s  ha v e  we   c o u n t e d ? � C o u n t   i n   5 s   t o   1 5. H o w   m a n y   5 s   ha v e  w e  counted? � Ho w  man y  toes  ar e  ther e  on  tw o  f eet? � Ho w  man y  glo v es  in  3  pairs? � This  domino  is  a  double  4. Ho w man y  spots  does  it  ha v e? Summer � Count  in  3s  fr om  0  to  30. Ho w man y  3s  did  w e  count? � Ho w  man y  sides  ar e  ther e  on  4 triangles?  Count  them  in  3s. � What  is  double  5? � What  is  half  of  1 0? � I  r oll  double  3. What’ s  m y  scor e? � Ther e  ar e  8  raisins. T ak e  half, ho w man y  ha v e  y ou  tak en? Autumn � What  is  5  + 5  + 5?  Ho w  can  w e  write  this  as  a mu l t i p l i c a t i o n   s e n t e n c e ? � What  n umbers  g o  in  the  bo x es? 6  ´   2  = � ; � ´   10   = 40; � ´ � =  12 � Ho w  man y  2s  mak e  8? � What  n umbers  g o  in  the  bo x es? 6  ¸  2  = � ;2 0   ¸  � =  2; � ¸ 10   = 3 � Ther e  ar e  1 2  cubes. Mak e  3  to w ers  the  same  height. Ho w  tall  is  each  to w er? Spring � What  m ultiplication  sentences could  w e  write  about  this  ar ra y? �     �     �     �     ��     �     �     �     �� What  ar e  tw o  5s?  Double  6?  6  times  2?  6  m ultiplied  b y  2? � What  is  half  of  1 2? � If  6  gra pes  ar e  shar ed  equall y betw een  tw o  people , ho w  man y  will the y  get  each? � If  Sarah  counts  in  2s, and  Nigel counts  in  5s, when  will  the y  r each the  same  n umber?  � Ho w  man y  1 0s  can  y ou  subtract fr om  60?  Summer � If  double  1 1  is  22, what  is  half  of  22? � If  1 2  ´   2  = 24, what  is  24  ¸  2?  � A  giant  is  twice  as  tall  as  a  1 0m  high house . Ho w  tall  is  the  giant? � One  snak e  is  half  the  length  of another  snak e  which  is  20  cm  long. Ho w  long  is  the  shor ter  snak e? � I  doubled  3, then  doubled  the ans w er . What  n umber  did  I  get?  I halv ed  this  n umber  and  then  halv ed it  again. What  was  m y  ans w er? �

What  is  the  pr oduct  of  1 5  and  6?

�

If  y ou  ad d  1 0 

´

5  and  8 

´

5, what  m ultiple  of  5  do  y ou  get?

�

Is  40  a  m ultiple  of  5?  Ho w  do  y ou  kno w?

�

What  n umbers  g o  in  the  bo x es?

4 

´

�

+

8 

= 

24; 33 

=

4 

´  

�

+

�

2

44

222

2 hops of 4

4 hops of 2

2 hops of 5

5 hops of 2

Autumn

�

What  is 1 0  ad ded  together  4  times?

Ho w  can  w e  write  this  as  an

ad dition?  And  as  a  m ultiplication?

�

Describe  this  ar ra y .
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�

   

�

   

�

   

��

   

�

   

�

   

�

   

��

   

�

   

�

   

�

   

��

I  ha v e  4  stick ers. If  y ou  had  3  times

as  man y  stick ers  ho w  man y  w ould

yo u   h a ve ?

�

What  is  the  pr oduct  of  6  and  2?  Of

2  and  6?  What  is  5  m ultiplied  b y  3?

�

Is  35  a  m ultiple  of  5?

�

What  n umbers  g o  in  the  bo x es?

4 

´

4 

=

�

;1 0  

´

�

=

80;

�

´

5 

=

30;

6 

´

20 

=

�

;

�

´

�

=

60

Spring

�

If  7 

´

5 

= 

35, what  is  35 

¸ 

5?

�

What  f our  m ultiplication  and

division  sentences  can  y ou  write  to

using  2, 5  and  1 0?

�

Shar e  1 8  betw een  2. Divide  25  b y  5.

Ho w  man y  fiv es  mak e  45?  Ho w

man y  5p  coins  do  y ou  get  f or  35p?

�

Ho w  man y  5s  mak e  35?

�

Shar e  1 8  betw een  2. Divide  25  b y  5.

�

Ho w  man y  lengths  of  1 0m  can  y ou

cut  fr om  80m  of  r ope?

�

A  bak er  bak es  24  buns. She  puts  6

buns  in  e v er y  pack et. Ho w  man y

pack ets  can  she  fill?

�

What  n umbers  g o  in  the  bo x es?

16  

¸

2 

=

�

;3 0  

¸

�

= 

6;

�

¸

5 

=

7

Summer

�

Ho w  man y  lengths  of  1 0  cm  can  y ou

cut  fr om  81 cm  of  ta pe?  Ho w  man y

will  be  left?

�

I f   y o u   p u t   2 5   e g g s   i n   b o x e s   o f   1 0,

ho w  man y  bo x es  w ould  y ou  fill?

Ho w  man y  eggs  w ould  be  left  o v er?

�

Count  a  handful  of  pasta  pieces  b y

gr ouping  them  in  5s. Ho w  man y  5s

we re   t h e re ?   H o w   m a ny   l e f t   o ve r ?

Ho w  man y  pasta  pieces  altogether?

What  division  sentence  could 

yo u   w r i t e ?

�

What  n umbers  g o  in  the  bo x es?
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´
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�
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´
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+

1

29 

=

5 

´

�

+ 

4;

´  

3

´  
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